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g SRR SR ZHUE A
YR HECSNIE-ZNF Y BE-5S
Vee FEL YR HAL L 4.75 5 5.25 | 4.5 5 5.5 \Y
Viu N 5 HLP FE R 2.0 2.0 Vv
Vi G HST LR 0.8 0.7 Vv
Ion A HE v HT LR -2.6 -1 mA
Ioo 4 AR LT HE IR 24 12 | mA
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CUNESE SNE 2N T IE SN
Vik | BN HE  [Vee=t/h  [=—18mA -1.5 -1.5] Vv
A L [ S Vee=Ei/N  Vip=E: K
Vou | ity P LUK VIH=2VJ IOH:PE'iij 2.4 | 3.1 2.4 | 3.4 \%
A NG - VCC:FE'&/ N VILZ%
Vou | it AP i s Vo2V Tohi ke 0.35| 0.5 0.25| 0.4 | V
LR EN ' )
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tpzr  EHTIEIR ][] i R =667 Q 21 28 ns
tonz  [PRAIEIR ) | o 1) e 7 C=5pF 12 20
tprz  [fRHAEIR IS 7] it R;=667Q 14 25 ns




